TAKS Objective 1 Release Questions
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1. During a severe drought a dry lake was explored for fossils. The diagram represents the fossils uncovered and the layers they were in. According to this information, this area was once a — (Grade 10 2003; B.2-C)

A forest that was replaced by a freshwater lake

B freshwater lake that was replaced by a desert

C saltwater sea that was replaced by a forest

D freshwater lake that was replaced by a forest

2. Which of these is a hypothesis that can be tested through experimentation? (Grade 10 2003; B.2-A)
F Bacterial growth increases exponentially as temperature increases.

G A fish’s ability to taste food is affected by the clarity of aquarium water.

H Tadpoles’ fear of carnivorous insect larvae increases as the tadpoles age.

J The number of times a dog wags its tail indicates how content the dog is.

3. Which of the following shows the length of a rubber strip measured precisely to

2.22 centimeters? (Grade 10 2003;B.2-B)
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4. Which conclusion is best supported by these data? (Grade 10 2003; B.2-D)

F Earth’s surface is composed mostly of silicon and calcium.

G Oxygen is closer to Earth’s surface than aluminum.

H There is more aluminum than calcium at Earth’s surface.

J Silicon is much heavier than iron at Earth’s surface.

5. The reason for wafting or fanning a small amount of chemical vapors toward the nose as a means to detect odors in a test tube is to — (Grade 10 2003; B.1-A)

A avoid experimental error from excessive loss of mass of reactants or products

B avoid splashing chemicals into the face of any person

C protect the respiratory tract against potentially harmful vapors

D determine the relative strength of the odor before smelling directly

6. Pain medications can be made as powders or tablets. The powders tend to work faster than tablets with the same ingredients because powder — (Grade 10 2003; I.3-B)

F dissolves faster in solution than a single tablet

G has more total mass than a single tablet

H travels through the bloodstream more easily than a tablet

J is easier to swallow than tablets

7. Which of the following will allow measurement of a liquid’s volume with the greatest precision? (Grade 10 2003; B.2-B)

A 50 mL cylinder graduated in 1 mL increments

B 100 mL cylinder graduated in 0.5 mL increments

C 100 mL cylinder graduated in 1 mL increments

D 200 mL cylinder graduated in 5 mL increments

8. Ten different types of culture media were inoculated with the same strain of bacteria and incubated at the same temperature. Nine of the cultures grew. Which of these conclusions can be drawn from this information? (Grade 10 2003; B.2-D)

F The media used in the experiment are all capable of sustaining bacterial growth.

G The temperature varied greatly during the experiment.

H Only the culture that failed to grow bacteria was inoculated properly.

J One of the media lacked the nutrients needed for the bacteria to grow.
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9. Which conclusion about the frogs is supported by these data? (Grade 10 2003; B.2-D)

A Four frogs out of ten preferred the green area.

B The frogs randomly moved into the colored areas.

C Most frogs tended to avoid the red area.

D Most frogs preferred the color blue.

10. The owner of a pet store assures a customer that if she buys only one female hamster, shewill not need to worry about the hamster having offspring, because there will be no

male with which the female can breed. What possibility is the pet-store owner  overlooking? (Grade 10 2003; I.3-B)

F The hamster could be infertile.

G The sex of the hamster could change.

H The hamster could be pregnant.

J The hamster could be a twin.

11. Which of the following pieces of equipment would be most appropriate for measuring the volume of a marble? (Grade 10 2003; B.2-A)
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12. In an investigation 10,000 dung beetles were examined for the presence of parasites. The data showed that about 5% of the beetles had parasites. The results are — (Grade 10 2003 B.2-D)

F invalid because only dung beetles were examined

G unsupported because the parasite population was small

H erroneous because more beetles should have had parasites

J valid because the sample size was sufficient for accuracy

13. Certain chemicals in the diet of moth larvae seem to influence the early development of the moths’ wings. Careful observation of developing pupae could result in — (Grade 10 2003; I.3-A)

A data to verify the hypothesis

B changes to the conclusion

C a conclusion about the moths’ eggs

D development of a new moth species
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14. According to the graph, about how much hemoglobin would be saturated at an O2

pressure of 7.3 kPa? (Grade 10 2003; B.2-C)

A 32%


C 89%

B 67%


D 92%

15. Objects of the same mass but of different sizes and shapes were dropped from a given height. Their rates of free fall were measured and recorded. Which of the following is most likely the question this experiment was designed to answer? (Grade 10 2003; B.2-A)

F How does height affect the force of gravity?

G How does gravity affect objects of different densities?

H How do mass and weight affect falling objects?

J How do size and shape affect an object’s rate of free fall?

16. As temperature drops to the dew point, clouds form in the atmosphere, and dew forms on ground surfaces. A scientist proposes that adding more water molecules to the

atmosphere will change the dew point. This proposal is — (Grade 10 2003; I.3-A)

F an invalid observation

G a valid hypothesis

H an invalid problem

J a valid conclusion

17. Laboratory equipment is cleaned and properly stored after use primarily so that — (Grade 10 2003; B.1-A)

A chemical products can be measured and recorded as data

B time is saved in setting up the next experiment

C toxic materials can be kept in the laboratory

D the possibility of contamination in the laboratory is minimized

18. The safest way to dilute concentrated sulfuric acid is to add — (Grade 11 2003; B.1-A)

A a series of small volumes of water to the acid while stirring

B the acid to water slowly while stirring constantly

C the acid to a small volume of water and then add more water

D dilute sulfuric acid to a small volume of the concentrated acid
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19. The picture shows the position of a ball every 0.25 second on a photogram. Using a ruler, determine the velocity of the ball. (Grade 11 2003; B.2-B)

F 3.5 cm/s

G 10.5 cm/s

H 14.0 cm/s

J 28.0 cm/s

20. The smell of an ammonia solution used to clean a floor can quickly be detected

throughout a house. Scientists explain this phenomenon by theorizing that gas molecules

from the ammonia are in continuous random high-speed motion, drifting rapidly and

permeating the air. Which statement best demonstrates the strength of this theory? (Grade 11 2003; I.3-A)

A Scientists have observed tiny smoke particles moved by unseen particles in a

                rapid, irregular fashion.

B Scientists have unanimously agreed on this theory since Thomas Graham’s

                experiments in the 1820s.

C The possibility of another theory being formed to explain the phenomenon as  

    well is very remote.

D Reason, as opposed to experimentation, is superior to any explanation found 

    through chemical testing
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21. Many doctors recommend 800 µg of folate, 400 µg of vitamin B12, and 50 mg of vitamin B6 per day to improve cardiovascular health. Based on this information and the nutrition label, the cardiovascular health benefit of a 1-ounce serving of this cereal is — (Grade 11 2003 I.3-B)

A doubtful because it provides insufficient folate and vitamin B6 and lacks 

    vitamin B12

B superb because it contains only 22 g of carbohydrates and 75 mg of sodium

C excellent because it provides all needed vitamins and is low in fat and 

    cholesterol

D poor because it raises blood cholesterol levels with its high fat and cholesterol 

    content
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22. This experiment probably was set up to determine — (Grade 11 2003; B.2-A)

A how much mechanical energy the battery produces

B the pH of water during electrolysis

C the pressure created by an electric current

D how much energy is converted to heat
23. Four lab groups measured the volume of acid required to neutralize a standard solution of sodium hydroxide base. Which of the groups measured the volume with the highest precision? (Grade 11 2003; B.2-B)
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24. An advertisement claims that patients can be cured of the common cold in 48 hours

by vitamin C tablets with secret mineral supplements. In a scientific experiment to test

these claims, which data can be considered irrelevant? (Grade 11 2003; I.3-A)

A The amount of vitamin C in each tablet

B The severity of the patients’ cold symptoms

C The chemical formula for vitamin C

D The amount of time before symptoms improve
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25. The table shows environmental factors and soybean production for three regions. Which of the following probably accounts for the decrease in soybean yield in Region 1? (Grade 11 2003; B.2-D)

F High levels of ozone damaged the soybean plants, decreasing the average

     yield.

G Low rainfall amounts failed to meet the plants’ moisture needs and inhibited 

    growth.

H Poor mineral levels found in the soil in that region limited the soybean harvest.

J Higher-than-normal rainfall increased pest activity, decreasing the average 

    yield.
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26. The table shows times required for water to evaporate from identical containers. Which of these is the best question to ask before developing a reasonable hypothesis to explain the data? (Grade 11 2003; B.2-A)

F Why does a lower temperature slow the rate of evaporation?

G What is the boiling point of the water after both samples are heated?

H Why does water exist as a solid at 15°C and as a liquid at 25°C?

J How does the rate of evaporation change when a different container is used?

27. An herbal company advertises that its product will help people lose weight if they take a tablespoon of the product with a glass of water at bedtime each night. Weight loss is guaranteed if a person does not eat for at least 3 hours before bedtime, gets moderate

exercise, and drinks 8 glasses of water each day. Why is the company’s claim difficult to

verify? (Grade 11 2003; I.3-B)

F The company has yet to disclose the identity of its special herb.

G Numerous uncontrolled variables are involved in evaluating results.

H Fasting lessens the absorption rate of the herb.

J The advertisement lacks data from before and after the weight loss.
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28. An environmental-science company measured the ozone pollutant levels at two different locations in a metropolitan area. Which statement is best supported by these data? (Grade 11 2003; B.2-D)

A Lower fuel efficiency and northerly winds in the winter increase ozone 

    pollution the most.

B Northwest winds in the spring transport ozone pollution into the metropolitan 

    area.

C High summer temperatures and southerly winds contribute to high levels of 

    ozone.

D Heavy use of automobiles changes ozone levels the most.
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29. Which question is valid in testing this hypothesis? (Grade 11 2003; B.2-A)

F Do most other scientists agree with the hypothesis?

G Could abiotic processes account for the carbon dioxide?

H What is the percent of argon compared to carbon dioxide in the Martian

                 atmosphere?

J Have the scientist’s other predictions about Mars been validated?
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30. According to the table, which workers have the greatest chance of experiencing significant hearing loss over time? (Grade 11 2003; B.2-D)

F Police traffic officers

G Shoe-factory workers

H Road-construction crews

J Library desk clerks

31. Two science students discovered that the mass of a sample of acetone in an open beaker decreased within a few minutes. One student hypothesized that the acetone reacted with oxygen to form a gaseous compound that escaped. The other student believed that the acetone evaporated into the air. What should the students do to test these hypotheses? (Grade 11 2003; B.2-A)

F Combine the hypotheses so they give valid predictions of the acetone’s 

    behavior

G Conduct a study of original papers describing the experiments leading to

                acetone’s discovery

H Perform an experiment that attempts to identify the gas above the open beaker

J Ask a classmate’s opinion about the chemical and physical properties of

               acetone
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32. Which graph best shows the comparison of the elements to the total composition of the copper ore? (Grade 11 2003; B.2-C)
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33. At which temperature do KBr and KNO3 have the same solubility?

A 27°C

B 48°C

C 65°C

D 80°C

34. A science class is conducting an experiment that produces noxious fumes. Because of

inadequate ventilation, some students begin to feel nauseated and dizzy. The first response should be to — (Grade 11 2003; B.1-A)

A neutralize the acid that is reacting to produce the noxious fumes

B carry the reactants outside, away from other students

C leave the room and go to an area with fresh air

D spray the reaction with a fire extinguisher
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35. Which conclusion can reasonably be made about Glycotac based on the promotional brochure? (Grade 11 2004A; I.3-B)

A All people with diabetes can safely use the product.

B Glycotac is guaranteed to lower blood sugar in people without health problems.

C Using the product may lower blood-sugar levels.

D Glycotac eliminates the need to exercise to control high blood sugar.
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36. Which of the following was probably the hypothesis for this experiment? (Grade 11 2004A; B.2-A)

F The growth of bread mold increases as temperature increases.

G The type of nutrient causes bread mold to grow faster at higher temperatures.

H The size of the plates determines the temperature of bread mold.

J The temperature of bread mold is determined by the mold’s growth.
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37. According to the data in the table, about how far can a spring be expected to stretch when a force of 3.92 N is applied? (Grade 11 2004A; B.2-C)

A 10.5 cm

B 13.6 cm

C 14.0 cm

D 17.3 cm
Use the information below and your knowledge of science to answer question 38.

Moon Chemistry

Samples collected by Apollo astronauts have provided new data about the moon. Some of these samples consisted of lunar soil, a fine-grained, sand-like material produced as a result of the destruction of moon rocks. Traces of beryllium-10 were found in the samples. Beryllium-10 is carried by the solar wind, which transports elements from the sun’s surface and deposits them on the moon. 

The solar wind may also result in the formation of new substances. Tiny teardrops of iron and specks of molybdenum were found inside the particles of lunar soil. This is interesting because these elements have not been found in an uncombined state on Earth. The metal oxides they originally were part of were possibly changed when bombarded by the positively charged particles of the solar wind.

Another interesting find was tiny (1 to 3 micrometers in length) crystals of silver sulfide. Because similar particles are found on Earth, it has been hypothesized that these crystals were created at a time when the moon had a molten core.
38. Which procedure is best to use when determining the density of a rock? (Grade 11 2004A; B.2-A)

F Place the rock in a water-filled beaker and find the height at which the rock 

    floats above the water.

G Use a ruler to measure the rock’s dimensions and then find its mass using

                an analytical balance.

H Measure the mass of the rock on a balance and then find the volume of water 

    it displaces in a graduated cylinder.

J Place the rock in three liquids with different known densities and observe

               which liquid the rock floats in.
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39. All of these procedures must be followed when using the setup shown above except — (Grade 11 2004A; B.1-A)

A putting on safety goggles

B handling the beaker with tongs

C securing loose clothing

D wearing rubber gloves
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40. The graph shows the results of a study testing chemical pesticides on a pest species common to cotton plants. Different chemical pesticides were used in five different areas. According to these results, which of the following is the most effective chemical for controlling this pest species? (Grade 11 2004A; B.2-D)

A R

B S

C T

D V
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41. Which question could be formed based on these data? (Grade 11 2004; B.2-A)

F What types of plants have increased productivity in different habitats?

G Is there a relationship between productivity and bird diversity in a habitat?

H How does the number of birds in a population affect habitats?

J Do habitats display changes in productivity and bird diversity during different 

   seasons?
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42. The table shows four mass readings of one object as measured by four different balances. Which balance produced the most-consistent measurements? (Grade 11 2004A; B.2-B)

A Q

B R

C S

D T
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43. The illustration shows volume levels of a liquid in a graduated cylinder before and after a sample was removed. According to this information, what was the volume of the sample to the nearest milliliter?

Answer: ___________
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44. The diagram shows different setups of an experiment to determine how sharks find

their prey. Which experimental setup is the control? (Grade 11 2004A; B.2-A)

F Q

G R

H S

J T

45. A certain commercial product used for cleaning ovens must be handled with rubber

gloves. The product is slippery and turns litmus paper blue. It probably contains — (Grade 11 2004A; B.2-D)

F an acid

G a base

H a salt

J an isotope
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46. This diagram shows the biochemical pathway that produces arginine in Neurospora, a mold. Neurospora is easily grown on a simple jelly-like medium. Different substances can be added to the medium. A mutant Neurospora lacking Enzyme Y would have to have which of these added to its medium in order to survive? (Grade 11 2004A; B.2-C)

A Enzyme X

B Ornithine

C Enzyme Z

D Citrulline
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47. A catapult was designed to project a small metal ball at a target. The resulting data are shown in the table. Which of these might explain the difference between the calculated and actual distances? (Grade 11 2004A; B.2-A)

A The ball landed short of the calculated distance because of an increase in

                momentum.

B Air resistance caused the ball to land short of the calculated distance.

C Initial mass of the ball changed with each trial.

D The metal ball was too small for accurate measurements to be made.
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48. According to this information, what is the best prediction for the boiling point of the seven carbon alcohol? (Grade 11 2004A; B.2-C)

A 169°C

B 178°C

C 186°C

D 192°C
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49. According to the graph, what is the approximate half-life of carbon-14? (Grade 11 2004A; B.2-C)

A 5.7 years

B 5,700 years

C 23,000 years

D 1,000,000 year
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50. The graph shows metabolic rates for two types of fish at different environmental

temperatures. Which of the following conclusions can be drawn from these data? (Grade 11 2004A; B.2-D)
F Fish metabolism responds to temperature changes.

G Metabolic rates decrease as environmental temperatures increase.

H Fish body temperature results from high metabolism.

J Metabolic rates are independent of environmental temperature.
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51. This animal most likely belongs to phylum — (Grade 11 2004A; B.2-C)

A Porifera

B Annelida

C Mollusca

D Arthropoda
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52. The ingredients described above are used to make a bonding agent. The most important safety precaution to take when applying this bonding agent is to — (Grade 10 2004; B.1-A)

F dry it with a small flame

G work in a well-ventilated area

H cover the work area with newspaper

J wear a lab coat
53. Observing an approaching thunderstorm and using a stopwatch, a student finds that it

takes 8.40 seconds for thunder to be heard after a lightning bolt strikes. The student has

learned that it takes 3.0 seconds for sound to travel 1000 m. How far away is the storm? (Grade 10 2004; B.2-C)

F 119 m

G 185 m

H 2800 m

J 8400 m

54. Which lab setup would be appropriate to use in heating 100 mL of water to the boiling point? (Grade 10 2004; B.2-A)

A A 10 mL test tube held above a Bunsen burner

B A 200 mL beaker placed on a hot plate

C A thermal coil inside a 100 mL cylinder

D A sealed 300 mL flask in a warm-water bath

55. In experiments, a benefit of larger sample sizes would be more — (Grade 10 2004; B.2-A)

A variables

B representative data

C time per group

D control groups

Use the information below and your knowledge of science to answer question 56.
Powerful Plankton

The U.S. Naval Research Laboratory has created an experimental marine fuel cell that could produce enough electricity to power ocean-monitoring devices. This fuel cell runs on seawater and sediment, with the help of plankton. Some plankton on the surface of ocean sediments use dissolved oxygen to break down organic matter, releasing energy; this is an aerobic process. The plankton in the deeper sediments break down organic matter without using oxygen; this is an anaerobic process. These two processes create a

difference in voltage between the surface of the sediment and the sediment farther down in the seabed. The voltage difference can be used to produce electricity-up to 5.0 x10 – 2 watts of power. Energy supplied by this type of fuel cell can be obtained as long as there is organic matter in the sediment.

56. Which safety precaution should be observed while analyzing sediment from a marine

aquarium? (Grade 10 2004; B.1-A)

A Wear rubber gloves

B Use a fume hood

C Avoid using glassware

D Have a fire extinguisher nearby

57. From 1942 to 1945, U.S. nickels were made of an alloy that contained 35% silver, 9.0% manganese, and the rest copper, by mass. If one of these nickels has a mass of 5.0 grams, what is the mass of the copper? (Grade 10 2004; B.2-C)

A 0.5 g

B 1.8 g

C 2.2 g

D 2.8 g

58. Which of the following procedures should be used in finding the mass of crystals? (Grade 10 2004; B.2-B)
A Pour the excess crystals back into the original container

B Put the crystals on the outer part of the balance pan for massing

C Pour wastes down the sink with plenty of water

D Use weighing paper on the balance pan
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59. A safety checklist for this activity should include the presence of a proper fire

extinguisher and all the following items except a — (Grade 10 2004; B.1-A)

A fire blanket

B receptacle for broken glass

C laboratory apron

D squeeze bottle
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60. The graph shows the distance traveled by a vehicle over a certain period of time. Which segment of the graph shows the vehicle moving with the greatest speed? (Grade 10 2004; B.2-C)

A L

B M

C N

D O
61. In a movie, meteoroids make several microscopic holes in a pressurized cabin in the

weightless environment of a spaceship. The astronauts search for the holes by spraying

water droplets from a container. If this were an actual situation, what effect should be

expected? (Grade 10 2004; I.3-A)

F The drifting water droplets float to the location of the holes.

G After falling to the floor, the water forms a stream leading to the holes.

H The water droplets form a large sphere of water that moves away from the 

    holes.

J Pumping the trigger on the spray container increases the air pressure in the 

   cabin
62. The following boxes represent a field. Which pattern for collecting 10 samples would provide the best data for identifying the types of plants in a field? (Grade 10 2004; B.2-A)
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63. The cloud conditions above are typical of locations near a warm front. According to these data, what are the most likely sky conditions for Waco? (Grade 10 2004; B.2-B)

A Cirrus clouds

B Altostratus clouds

C Stratus clouds

D Clear skies

64. An engineer has created a new engine for race cars. It is necessary to know which fuel mixture will allow the engine to run at its peak performance. Which experimental design is best for this investigation? (Grade 10 2004; B.2-A)

F Use one fuel mixture on the engine and measure its performance

G Use one fuel mixture on many types of engines and measure their performance

H Use various fuel mixtures on the engine and measure its performance

J  Use various fuel mixtures on many types of engines and measure their  
    performance
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65. This statement is a poor hypothesis because it is not — (Grade 10 2004; I.3-A)

A a question

B testable

C observable

D a comparison
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66. A cold front moves from Abilene to College Station in 6.0 hours. What is its average speed in km/h? (Grade 10 2004;B.2-B)

F 0.018 km/h

G 16 km/h

H 58 km/h

J 67 km/h
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67. The table shows the atomic radii of some elements in Periods 1 through 4 of the periodic table. Which inference can be made from this information? (Grade 10 2004;B.2-C)

F Atomic radii decrease from left to right.

G Atomic radii increase from bottom to top.

H Atomic radii decrease from right to left.

J Atomic radii double from top to bottom.
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68. The graph shows the percentage of hemoglobin that combines with carbon

monoxide (CO) at various concentrations. Exposure to 400 parts per million of CO in air

can cause people to experience nausea and a throbbing headache. According to the graph,

about what percentage of hemoglobin is bound to CO at a CO concentration of 400 parts per million? (Grade 10 2004; B.2-C)

A 25%

B 35%

C 40%

D 55%
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69. While studying the relationship between the pressure and the volume of a gas, members of a science class conducted an experiment in which they changed the pressure on a balloon and then measured the balloon’s volume. They collected the data above. Which graph correctly represents these data? (Grade 11 2004J; B.2-C)
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70. The graph shows the relative basal metabolic rates of a field mouse and an anole (a type of lizard) at different temperatures. According to this information, the field mouse — (Grade 11 2004J; B.2-D)

A uses the least energy when the environmental temperature is 30°C

B is able to control its body temperature

C uses less energy at 20°C than the anole does

D is unaffected by environmental temperature
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71. A magazine included advertisements for two different garlic supplements to promote healthy hearts. The advertisement for Very Good Garlic Extract presents evidence that is more valid because — (Grade 11 2004J; I.3-B)

A information was gathered in a controlled manner

B it lacks a guarantee

C it lacks personal testimonials to the product’s effectiveness

D information was gathered in more than one country
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72. The graph shows the amount of carbon-14 in tissue over time. According to the graph, if a bone contains 1/8 the amount of carbon-14 that it did originally, its approximate age is — (Grade 11 2004J; B.2-C)

F 5,700 years

G 11,400 years

H 17,100 years

J 22,800 years
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73. Which is the best question to ask before developing a reasonable hypothesis for the phenomenon shown above? (Grade 11 2004J; B.2-A)

F Why does water crystallize into a solid below 0°C instead of remaining a 
    liquid?

G How will the freezing time from 20°C to –15°C change if each container is 
    covered?

H Why does boiling the water cause it to freeze more quickly when cooled from 
    20°C to –15°C?

J What is the precise boiling point of the water in Sample A after it has been 
    heated?
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74. This chart shows the results of an experiment performed in the 1920s using a bacterial species that causes pneumonia in humans. The experiment involved several procedures using two different bacterial strains, R and S. What is a possible explanation for the results in Group 2? (Grade 11 2004J; B.2-C)

A Living S-strain bacteria can transform into a pathogenic form of R-strain 

    bacteria.

B Living R-strain bacteria are controlled by a mouse’s immune system.

C Dead S-strain bacteria can cause disease.

D Dead R-strain bacteria can confer resistance to S-strain bacteria.

75. Reactions that produce toxic gases should be performed in a — (Grade 11 2004J; B.1-A)

A laboratory fume hood

B beaker with a watch glass on top

C well-ventilated area of the lab

D warm, airtight drying oven
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76. These data were gathered by four groups of students. Each group performed four trials to determine the acceleration rate of a toy car. Which group had the most-consistent data? (Grade 11 2004J; B.2-B)

F Group Q

G Group R

H Group S

J Group T
77. Which of these will give the most precise measure of a 10-milliliter volume? (Grade 11 2004J; B.2-B)
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78. Classification symbols for certain fire extinguishers are shown below. Which class of

fire extinguisher should be used when a hot plate overheats and catches on fire? (Grade 11 2004J; B.1-A)
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79. The diagram above shows the biochemical pathway that produces arginine, an amino acid required by an organism called Neurospora. The table shows the response of a mutant strain of Neurospora to supplements in its food supply. This mutant strain must lack the enzyme that acts on — (Grade 11 2004J; B.2-C)

F the precursor

G ornithine

H citrulline

J arginine
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80. The diagram shows an experimental setup. Which of these questions was this experiment designed to answer? (Grade 11 2004J; B.2-A)

A Does water boil when exposed to air?

B Will fire turn a gas into a liquid?

C Does air expand when heated?

D Will heat turn a gas into a solid?
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81. A ruler placed between one student’s fingers and thumb is released without warning. A second student catches the ruler. The distance the ruler falls is recorded. This experiment is most likely designed to determine the — (Grade 11 2004J; B.2-A)

F effects of stress on the first student’s heart rate

G acceleration of the ruler during its fall

H second student’s reaction time to a stimulus

J force applied on a falling mass

82. Which set of equipment would be best to use to test the effect of temperature on solution acidity? (Grade 11 2004J; B.2-A)

F A balance and a thermometer

G A pH meter and a barometer

H A balance and litmus paper

J A thermometer and a pH meter
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83. This graph shows the absorption spectrum for a certain pigment molecule. To a human, this pigment would most likely appear — (Grade 11 2004J; B.2-C)

A blue

B green

C yellow

D orange
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84. The table shows the number of bubbles released by an elodea plant per minute at

different light intensities. The rate of bubble release is representative of the photosynthetic rate. Which statement is supported by these data? (Grade 11 2004J; B.2-C)

A The rate of photosynthesis is slowest when elodea produces 7 to 12 bubbles.

B Lower light intensity causes a higher photosynthetic rate.

C The greatest difference in photosynthetic rate is between the 75W and 100W

    lightbulbs.

D Light intensity has little effect on the rate of photosynthesis of elodea.
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85. What is the volume reading for the solution in the pipette? (Grade 11 2004J; B.2-B)

A 19.4 mL

B 19.6 mL

C 20.4 mL

D 20.6 mL
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